H & 0l & AHS B Ml A

2A: sHIIsUEH
I SEXNEAY
Belr DIz 22SAMY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sYJI=HH 9,672,670 9,580,235 92,435
= 1,501,450
[ 1,050,000
Al 7,121,220
SEISEME 6.615,9% 6,673,892 A57,8%6
= 1,501,450
= 1,050,000
Al 4,004,546
s 2SAMY 945,000 701,000 244,000
= 817,500
Al 127,500
BIOIRXt & X 23 AEMEIA 2&0tA 25 Jl= 30,000 0 30,000
Al
= 15,000
Al 15,000
402 2I2F X201 & 30,000 0 30,000
= 15,000
Al 15,000
02 QI ESASEZ(0IETHR) 30,000 0 30,000
OOl & A 28 AIZEX 2&0t
A A= D= MY 30,000,000 30,000
= 15,000
Al 15,000
2l20HE CIXE 28 Jl=s Alg 30,000 0 30,000
= 15,000
Al 15,000
402 2IZtA=01A 30,000 0 30,000
= 15,000
Al 15,000
02 RIENEASEZ(0IETHR) 30,000 0 30,000
O3=0HE TIXNE 88 Jle MY
30,000,000 30,000
= 15,000
Al 15,000
D I3 E SEE USH ANE YD B A 50,000 0 50,000
= 25,000
Al 25,000
402 2I2FX=01 & 50,000 0 50,000
= 25,000
Al 25,000
02 RIENEASEZ(0IETHR) 50,000 0 50,000
ORZ rds &Y USH AUIE X
25 AY 50,000,000 50,000
= 25,000
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2A: sHIIsUEH
MY SEXE A
Belr DIz 22SAMY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 100,000
OAMEDF ==ta =T 2N WES
e B3 ANg (&3 40,000,000 40,000
= 40,000
OLNSE =3 dut= et I et USE &
AXI|E E=(23 20,000,000 20,000
= 20,000
OLI| &=2 UHESA Jl= Al (>2E
25,000,000 25,000
= 25,000
OALIER MY =5 22 22 Alg 25
(23) 25,000,000& 25,000
= 25,000
OJI=2SHA OEsed A=
250,000,000 250,000
= 250,000
OSSN SE1=3E flet A ME 2 K
e 22(3%) 25,000,000 25,000
= 25,000
OBROI2Xt & &X 2 AEMiAl 24&0t
A 2E JE NE(8SH) 15,000,000 15,000
= 15,000
OdMa= Moty oS ?Iet N S&
2e| Alg(Sa) 40,000,000& 40,000
= 40,000
OLSHUFLER24I MU ZLE(SH)
15,000,000 15,000
= 15,000
ORQol gHl 28 U= Sg2cle 75 Al
H(3d) 50,000,000 50,000
= 50,000
ORI Mo M ML - 25 2eD|=s
23(3d) 35,000,000& 35,000
= 35,000
SEINXIEED =X 500,000 0 500,000
= 250,000
Al 250,000
Nssgde R=(2E, 19 500,000 0 500,000
s 250,000
Al 250,000
401 Al HIZ 2018 500,000 0 500,000
= 250,000
Al 250,000
01 A28l 500,000 0 500,000
OX=sgul 2= 500,000,000 500,000
[ 250,000




2A: sHIIsUEH
I SEXEA
thelr SEJXIED|IEXIRA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | Al 250,000
G s =X 1,187,725 1,155,148 32,577
= 378,900
Al 808,825
EgtEazeld 2H(2Y) 24,800 26,800 22,000
= 6,200
Al 18,600
101 @124H| 21,000 20,958 42
= 5,250
Al 16,750
MU IIRIMZZENSES 21,000 20,958 42
OSgEAT2la JI2HH 22
21,000,000 21,000
= 5,250
Al 15,750
201 2= 3,800 5,842 A2,042
= 950
Al 2,850
2 35244l 3,800 5,842 N2,042
Oosgz4aacld 28 2 AI2ZHIFA]
3,800,000& 3,800
= 950
Al 2,850
SeEAzeld 2 (XY) 41,250 53,400 A12,150
= 16,500
Al 24,750
308 AFAIEHMSOIE 41,250 53,400 A12,150
= 16,500
Al 24,750
01 AXNBEES 41,250 53,400 12,180
OZTEZZY 2 (L3 15,000,000 15,000
= 6,000
Al 9,000
Oz 29(8%) 15,000,000& 15,000
= 6,000
Al 9,000
OXZtiea 2H(34d) 11,250,000 11,250
= 4,500
Al 6,750
g Fotae|d 2 10,000 0 10,000
= 2,500
Al 7,500
201 eer23y| 5,000 0 5,000




A s8I
=EX
=}

=
I SEXEA
ool ustgd s =X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,250
Al 3,750
02 S5=2g4l 5,000 0 5,000
ORBY BN 2 L ALTHIR
Xl 5,000,000& 5,000
= 1,250
Al 3,750
206 M=l 5,000 0 5,000
= 1,250
Al 3,750
01 MHZHI 5,000 0 5,000
OB BTN 22TE
5,000,000& 5,000
= 1,250
Al 3,750
ste HEAM IF(XY) 375,000 375,000 0
= 250,000
Al 125,000
403 AXIEHMSAH=Z01d 375,000 375,000 0
= 250,000
Al 125,000
01 XIS A =2 375,000 375,000 0
Os42 OEEHA AE(2)
375,000,000 375,000
= 250,000
Al 125,000
EELR f=& FFH(HE) 2,000 6,000 24,000
= 1,000
Al 1,000
206 M=l 2,000 952 1,048
= 1,000
Al 1,000
01 M= Hl 2,000 952 1,048
OEER Bk =3 M2
2,000,000 2,000
= 1,000
Al 1,000
ERL F5E SFH(XE) 4,050 9,000 4,950
= 2,700
Al 1,350
308 AHAIEMSOIE 4,050 9,000 24,950
= 2,700
Al 1,350
01 HAHHBSEXRS 4,050 9,000 4,950




A s8I
=EX
=}

el
I SEXEA
ool ustgd s =X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJ=2hL B 328
4,050,000& 4,050
= 2,700
Al 1,350
EBASEY IIEER E4DIE 2 (XIY) 150,000 0 150,000
= 100,000
Al 50,000
403 AXIEHHSAH=201H 150,000 0 150,000
= 100,000
Al 50,000
01 AXISHHA=2E XL 150,000 0 180,000
OJtE2E 2480 & 24+
150,000,000 150,000
= 100,000
Al 50,000
USASEHE MHIA Z2EHEF) 165,875 87,698 78,177
101 21AH| 21,555 16,178 5,377
04 JIZtN2 2N S+ 21,555 16,178 5,377
Ozlgtdsgacld 2 JI2HN 2
1,555,000 21,555
201 er23 | 10,000 8,000 2,000
01 At2teltl 5,000 5,000 0
OzlstZ3sgaciad 28 & 2= NS
5,000,000& 5,000
02 S3=gHl 5,000 3,000 2,000
OrlatZ3sgacied 28 2 ANEEHI=A
5,000,000& 5,000
206 M=l 53,520 63,520 10,000
01 MHZHI 53,520 63,520 10,000
Ozlstdsgacia 2gMs
53,520,000 53,520
405 AHaHE = 80,800 0 80,800
01 ML ESFSHI 80,800 0 80,800
OzlztZ3sgaaca =5 7Y
80,800,000 80,800
UStA=EHE MHIA 2EHKIH) 414,750 597,250 182,500
308 AtXIEHMSOIE 389,750 597,250 A207,500
01 XN B EES 389,750 597,250 A207,500
Ol golls 2ISgH RAAL (23
144,750,000 144,750
OstEddgE2Aa2d (3l
10,000,000 10,000
Ol EXAIY (F3)
125,000,000 125,000




2A: sHIIsUEH
I SEXEA
el AsgssEI =N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=oli52lbl 2XA(27)
60,000,000& 60,000
OlliXR=SHH 2 X (28)
50,000,000& 50,000
403 AXIEHHS X201 25,000 0 25,000
01 AXIEHM A= 2 £ 25,000 0 25,000
Ostugal & 42240 XI& (28
25,000,000 25,000
SHSHNSHELMAIS 172,780 122,700 50,080
= 170,150
Al 2,630
sSEE gols ¢gMl(HE) 4,000 0 4,000
= 2,000
Al 2,000
206 M=l 4,000 0 4,000
= 2,000
Al 2,000
01 MHZH| 4,000 0 4,000
sHE dolis LMl XA
4,000,000 4,000
= 2,000
Al 2,000
SEE gols LMuI(X) 72,000 102,000 30,000
= 72,000
308 XXM SOIA 72,000 102,000 /30,000
= 72,000
01 X SHHBAEXS 72,000 102,000 /30,000
Os&= golis bl X (23
49,636,000 49,636
= 49,636
Os&= gois 2l X (S8d)
15,620,000 16,620
= 16,620
Osxe gols gul XA (Es57)
6,744,000& 6,744
= 6,744
Holls oERE s 2HE(XF) 10,800 18,000 A7,200
= 10,800
308 XXM SO0IH 10,800 18,000 AT7,200
= 10,800
01 X HHNBAEXS 10,800 18,000 AT7,200
Odgolis s 2H (23
5,400,000 5,400
= 5,400




2A: sHIIsUEH
B SEXNEAY
&l sZASHMHSUHELMALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oogidlis ddta 24(3d)
5,400,000& 5,400
= 5,400
dols 22 2 (HE) 900 900 0
= 270
Al 630
206 M=l 900 900 0
= 270
Al 630
01 M=4l 900 900 0
Ogois 4L 2N 900,000 900
= 270
Al 630
Hols 22 2F(XH) 1,080 1,800 AT20
= 1,080
308 AtAIEHMSOIE 1,080 1,800 AT20
= 1,080
01 XN B2 LS 1,080 1,800 AT20
Odgolis 2z2x 2H (23 810,000 810
= 810
Odols 22Z 2H(8d) 270,000 270
= 270
AsRie el XIZ (X&) 84,000 0 84,000
= 84,000
308 AXIHSOIA 84,000 0 84,000
= 84,000
01 XN B2 LS 84,000 0 84,000
Ogssas AEHel X (48
42,000,000 42,000
= 42,000
Ogssis AEHel X (3)
42,000,000 42,000
= 42,000
SIH-EEINEXE 12,000 79,725 AN67,725
sHIYsESY(AE) 12,000 12,000 0
402 BIZtAH=01A 12,000 12,000 0
01 QI X2 AL E A (KHHITHE) 12,000 12,000 0
O+ s SEUSIIAIY
12,000,000 12,000
SYHE oy 2y 172,004 255,817 83,813
= 77,800
Al 94,204
soIE(=Y) 10,000 20,000 10,000
= 5,000




2A: sHIIsUEH
I SEXNEAY
ol SYEAZE oY 2y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,000
201 er23y| 9,000 19,000 10,000
= 4,500
Al 4,500
01 AtR2tc|Hl 9,000 19,000 10,000
Osgoltst 29 9,000,000& 9,000
= 4,500
Al 4,500
206 M=l 1,000 1,000 0
= 500
Al 500
01 =4l 1,000 1,000 0
Osgaus 29 1,000,000& 1,000
= 500
Al 500
SIS (XIH) 15,000 15,000 0
= 10,000
Al 5,000
308 XXM SOIA 15,000 15,000 0
= 10,000
Al 5,000
01 XN B2 LS 15,000 15,000 0
Osgeltsr 24(23h) 7,500,000& 7,500
= 5,000
Al 2,500
Osgoltis 24 (32) 7,500,000 7,500
= 5,000
Al 2,500
s=HZUR(HEY) 15,200 17,000 21,800
= 7,600
Al 7,600
201 Ler23| 15,200 16,000 A800
= 7,600
Al 7,600
01 AtR2t2|HI 15,200 16,000 A800
Osll=dzls 29 15,200,000 15,200
= 7,600
Al 7,600
sAI=NZuS(XY) 22,800 25,500 A2,700
= 16,200
Al 7,600
308 XXM SOIA 22,800 25,500 A2,700
= 15,200




2A: sHIIsUEH
I SEXNEAY
ol SYEAZE oY 2y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,600
01 HASHHBSEEXS 22,800 25,500 A2,700
s usIA (28
11,400,000& 11,400
= 7,600
Al 3,800
O52IIaHSDSNA(ST)
11,400,000 11,400
= 7,600
Al 3,800
NEZ2d M2sASYTA(ANLNS)(HY) 10,100 27,800 AT7,700
201 fer= 3| 500 4,000 A3,500
01 At 2|l 500 4,000 23,500
OXNE=sFE L WS
500,000 500
202 04l 9,600 23,800 14,200
01 2LHoIH 6,000 23,800 A17,800
ONEBTLR AL DI0M)
6,000,000& 6,000
04 =Xl=todbl 3,600 0 3,600
ONEBSE AN DOiY
3,600,000& 3,600
=N ESNE(HE) 1,300 6,500 25,200
201 2= 1,300 1,300 0
01 AtR2t2lt] 1,300 1,300 0
Osgustgsa s 29
1,300,000& 1,300
ARsgel JIxEEs)|zng(HE) 40,000 40,000 0
= 20,000
Al 20,000
201 er23| 36,000 36,000 0
= 18,000
Al 18,000
01 AtR2t2|HI 36,000 36,000 0
OAsHELS 23 36,000,000& 36,000
= 18,000
Al 18,000
206 M=l 2,000 2,000 0
= 1,000
Al 1,000
01 MZH| 2,000 2,000 0
OAsAELS 2EME 2,000,000 2,000
= 1,000
Al 1,000




2A: sHIIsUEH
I SEXNEAY
ol SYEAZE oY 2y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 2,000 2,000 0
= 1,000
Al 1,000
11 #AIMHIXIE S 2,000 2,000 0
OFIs7ELS 23 dAAEINES
2,000,000 2,000
= 1,000
Al 1,000
dsgel JIEEsI=ns(XE) 11,250 11,250 0
= 7,500
Al 3,750
308 XtXIEMSOIH 11,250 11,250 0
= 7,500
Al 3,750
01 XN BSELES 11,250 11,250 0
Otlnrsgel Jx=gs)izns (23
11,250,000 11,250
= 7,500
Al 3,750
soEEHH NS2INA(HY) 3,000 18,600 115,600
201 2= 3,000 14,600 A11,600
03 A2 I 3,000 10,000 A7,000
O4Hgadlel & FEMHAORL 29
3,000,000& 3,000
L2E 018 I3 JI2nF(XE) 7,300 7,600 A300
= 3,650
Al 3,650
201 er23| 4,600 6,080 1,480
= 2,300
Al 2,300
01 AtR2t2|HI 4,600 6.080 A1,480
fclg 018 s Jl=us 28
4,600,000 4,600
= 2,300
Al 2,300
206 M=l 2,700 1,520 1,180
= 1,350
Al 1,350
01 M=4l 2,700 1,520 1,180
O=<cl# 0l8 IS JIsu= M
2,700,000& 2,700
= 1,350
Al 1,350
K2 018 I3 JI2uFR(KE) 13,275 14,250 A975

_11_




2A: sHIIsUEH
I SEXNEAY
ol SYEAZE oY 2y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,850
Al 4,425
308 XXM SOIA 13,275 14,250 A975
= 8,850
Al 4,425
01 XN BSELES 13,275 14,250 ANST6)
OS2 018 JEIISDI(L)
9,000,000 9,000
= 6,000
Al 3,000
ol 018 I3z n=(3)
4,275,000 4,275
= 2,850
Al 1,425
SYHAUNMBII=UR(HE) 22,779 21,517 1,262
101 @124H| 22,779 21,517 1,262
04 JIZtN2 2N S+ 22,779 21,517 1,262
OsguUsAE JIZtHZ22 Xt
22,779,000 22,779
S THoHol 6,000 50,000 A44,000
= 3,000
Al 3,000
sgel tHAd AgHse N 6,000 0 6,000
= 3,000
Al 3,000
201 er23| 6,000 0 6,000
= 3,000
Al 3,000
01 AtR2t2|HI 6,000 0 6,000
Osgol oA ofrsl xR
6,000,000& 6,000
= 3,000
Al 3,000
SSIIHHE WF A 344,240 283,045 61,195
= 19,000
Al 325,240
s Hn(HE) 2,400 1,500 900
= 1,200
Al 1,200
201 er23| 1,400 1,500 A100
= 700
Al 700
01 AtR2t2lHl 1,400 1,500 A100
OsIIH s 23 1,400,000& 1,400




2A: sHIIsUEH
I SEXEA
CHel: =0T HOHE MR AMY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 700
Al 700
206 M=l 1,000 0 1,000
= 500
Al 500
01 M=4l 1,000 0 1,000
OsIH e s 23 1,000,000& 1,000
= 500
Al 500
sAIHLNS(XIE) 10,140 2,925 7,215
= 7,800
Al 2,340
308 XXM SOl 10,140 2,925 7,215
= 7,800
Al 2,340
01 XN BSELS 10,140 2,925 7,215
O=IIHLE (23 7,800,000& 7,800
= 6,000
Al 1,800
OsgIHL=R(SA) 2,340,000& 2,340
= 1,800
Al 540
i SHIARNA(ZE) 20,000 0 20,000
= 10,000
Al 10,000
405 KHaHF S| 20,000 0 20,000
= 10,000
Al 10,000
01 ML ESFSHI 20,000 0 20,000
Ou=g sgJIH +8 20,000,000& 20,000
= 10,000
Al 10,000
s =31 (2E) 32,000 22,000 10,000
206 MH=HI 32,000 22,000 10,000
01 MHZHI 32,000 22,000 10,000
OsJIH =328 B3 & &5+
30,000,000 30,000
OsIH =2l+cl8& SHAES
2,000,000& 2,000
sIIH==clHIE XA (R E) 116,600 80,600 36,000
201 2= 600 600 0
01 At22t2l] 600 600 0
OsJIAH +=cl 2E =22 600,000 600

_13_




2A: sHIIsUEH
I SEXEA
CHel: =0T HOHE MR AMY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 116,000 80,000 36,000
14 IIEt2 83 116,000 80,000 36,000
OsJI A2l R3lU= 2x
116,000,000& 116,000
SOIH U At 2E 163,100 164,320 1,220
101 21A4H| 45,700 45,620 80
04 JIZtN2 2N S 2 45,700 45,620 80
OsI1H 2UAIY 24 JItMZ22XH(2Y)
45,700,000 45,700
201 el 31,400 34,700 23,300
01 At22t2lt] 11,400 11,400 0
OsJIH SUAE 2¢ 11,400,000 11,400
2 s5=34l 20,000 23,300 A3,300
OsJIAH SUAE AIEEHI=Al
20,000,000 20,000
301 2N = 4,000 7,000 A3,000
14 0Bt 2a3 4,000 7,000 23,000
Ol sJ1 258 2
4,000,000& 4,000
401 AIEHIZL S0 5,000 5,000
01 Al&H| 5,000 5,000
OL ALY sI1H == 5,000,000& 5,000
405 KHaHF S| 77,000 77,000
01 ML ESFSHI 77,000 77,000
OS2 YAy 2% JY
77,000,000 77,000
sENCIIBtEY 1,434,429 2,387,703 N953,274
= 15,000
[ 800,000
Al 619,429
SEXNZIIBEL(XIZ) 800,000 1,530,000 A730,000
[ 800,000
403 MR SHHMSAH=01H 800,000 1,530,000 A730,000
= 800,000
01 XIS 2EE 800,000 1,530,000 A730,000
SENEI| P EL(Zat)
800,000,000 800,000
s 800,000
sEXNZ X 568,429 443,703 124,726
= 15,000
Al 553,429
201 el 154,892 145,084 9,808
01 At22t2lt] 79,892 79,084 808
OReldd2el s 14,400,000 14,400
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KIO

Hlw

2,000

10,000
10,000
10,000

900

MEE
Ofl &k2h

2,000
2,000
15,000
15,000
15,000

6,250
5,850
5,850

400
8,000
5,500
5,500
2,500
2,500

7,200

2,400

800

800

Ofl &F2H

2,000
2,000
2,000
2,000

2,000
15,000
15,000
15,000
15,000

6,250

5,850

5,850

400
400
400
8,000
5,500
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